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Instruction : Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each.

¥v-1 (@UE-237) Tl famen g foafaw : [1x5=5]

(Section-A) Choose and write the correct option :

() Tora waw =t v i Bt 8 2

(87) NaCl (¥) Na,SO,

(@) NH,CI (7) KNO,

Which of the following salts is acidic in nature? CGBOARDonline.com
(@) NaCl (5) Na,SO, '

(¢) NH,CI (d) KNO,
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(37) wifsaw CGBOARDonline.com
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(3) TESA

The position of which element is not fixed in the periodic table?
(@) Sodium

(b) Helium

(¢) Chlorine

(d) Hydrogen

#HAT Y : CGBOARDonline.com

(37) fagurg (=)
(7) wngas (3) e
Bronze is :

(a) Alloy (b) Gangue
(c) Slag (d) Flux

(iv) et =i & <fial = o § 5567 9T % 9, 453 FfeEl, 23 U,

7769 g UTC 71T | 39 I 1 Frel WATHE IeqreA B0

(37) i & T Sital &1 wifea siavr

(%) i % T areafadl &1 affed stevr

(@) A F T Sgail 1 wffea R

(2) Fac oE & Uiyl F1 9finfaa SiaYR CGBOARDonline.com
The number of organisms in a garden was estimated as

5567 grasses, 453 shrubs, 23 trees and 7769 animals.
The primary productivity of this area will be nearly equal to :

(a) biomass of all organisms of the garden
(b) biomass of all the plants of the garden
(c) biomass of all the animals of the garden

(d) biomass of only all the grasses
CGBOARDonline.com
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(v) THR IR H Fifaw wifvemei ®§ Hifven s S .

(37) et (%) srpht

() o (3) ST R

Cell division that takes place in somatic cells of our body is :
(@) Meiosis (b) Amitosis

(¢) Mitosis (d) All of the above

CGBOARDonline.com
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(wve-a) fa e =t gfd s [1x5=5]
(Section-B) Fill in the blanks :
() Trafa ¥ v = =6 — €
Speed of light in vacuum is __.
(if) e ® qequl = 1 EH|A — ¥
The ultimate energy source in the world is :

(iif) Wa@ iy faga %o @ — &1 CGBOARDonline.com

The most electro-negative element is

(iv) fTaega v &1 S.1. Wk —— R

The S.I. unit of electric power is ;

) TR — W AT e

Packing gasket is made of __ material.

(Tus-w) 3faa w=ry Sfee : [1x5=5]
(&) (@)

G WA - =9meE 1 faeh % i@

(i) T geRrars - R

(iii) wHafa @ - sfrif

(iv) ®fa CGBOARDonline.com - -273°C

(v) <9 F &ma H TEE - el e
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(Section-C) Match the following : CGBOARDonline.com
(A) (B)
(i) Absolute zero — . Wings of bat and butterfly
(if) Animal ecology —  Dioptre
(iif) Analogous structure —  Supercooled liquid
(iv) Glass - =273°C

(v) Unit of power of lens —  Charles Elton

Y HHS 2 W 6 9% Afergaid w1 ¥ v T W
2 % IEfea 1 (YF IW F Afusman w=s-dim
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Instruction Question Nos. 2 to 6 are very short answer type questions.

-3

Wy -4

Each question carries 2 marks. (Maximum word limit of

each answer is 30 words)

forddt o (W) W ot it foF Wb witafdfa et 2 2
How does the ionization energy change in a group?

sfe grer & S 3w fafan)

Write two uses of baking soda.

TN 491§ ? 39 92l & AW fafag

What is Biogas? Write the names of its components.
wiRfeafaent 3 fFd shgd € 2 39% T2l & W fafEu)
What is Eco-system? Write the names of its components.

Ty g ?  CGBOARDonline.com

What is vegetative reproduction?

(2]
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Instruction : Question Nos. 7 to 10 are very short answer type questions,

Each question carries 3 marks. (Maximum word limit of

each answer is 50 words)
W7 AR feEve Rl wed § 2 A o U 3 e s =gt
THART i WY, < B4 el AfufsE 1 e fafag) | 3]
What is nuclear fission? Write the chemical reaction that takes place

if slow moving neutron is bombarded on the nucleus of 4,U>3>.
CGBOARDonline.com

WA-8 919 TH UV ¥ g I g0 I ST o0 €, 79 wiafda wr g A @ wFn
TS 9216 ? [3]
When we increase the distance between the mirror and the object,
then what would be the effect on the distance between the image
and the object?

-9 fH o e % T fafey e fage W w1 oswEm i
N % ? [1+1+1=3]
Write the name of any three appliances in which electric motor is

used. CGBOARDonline.com

U¥T-10 ~FHA9 94, Wighfod 997 Td Sgher S IRfHd S| [1x3=3]

Define artificial selection, natural selection and adaptation.

S-5B P.T.O,
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st : Y HHE 11 W 14 7% TSI W ¥ YE I W
4 3% ofEfea €1 (VA% SW H Afywaw w=-diw
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Instruction Question Nos. 11 to 14 are short answer type questions.
Each question carries 4 marks. (Maximum word limit of
each answer is 75 words)

ToA-11 i U T yauT § =R I fafay)

[1x4=4]
Write four differences between aerobic and anaerobic respiration.,
CGBOARDonli i
online.com .
it e Srifiren wer | W S fafae |
Write four differences between sexual and asexual reproduction.
UYA-12 WIS T SAqHTET TE0 T 72 ISR oh W SIS [2+2=4]
What are dominant and recessive characters? Explain with example.
HYGT
OR
mﬁmﬁmw%?wwwaﬁm|
What are homologous and analogous characters? Explain with example.
Y-8 $9 el % 9 9 % pH 9 R F fyg e E ) Sfwsi @ faveww
R frfaraa ¥l & SW 3T :
AR
gre & A pH &=

@M % 9re & faead 8.2

:ﬁq\qﬂ ke 2.2

"-TFﬁ 7.0

difeaw gReiaares faaaa 13.0

77 : [1x4=4]
(3) fra e F uFfa a8 ? CGBOARDonline.com |

(%) o verd Y THfa e 2

(%) T v =l THfa ST & 2

(3) SF-w 72 Yo AR R ?
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¥Rt Qeiter 3 St Searet @ i Prefefan fargell § A : (242
(37) Twifea o=
(9) wfran 1 TaEfyE g CGBOARDonline.com

Describe. the industrial production of ethanol from molasses under

the following heads :
(a) Labelled diagram

(b) Chemical equation of the process

3rerar
CGBOARDonline.com QR

7PVC &t Hufa ST faaa sa& 91¢ < 3w fafan)

Write the condensed structure of PVC and write any two uses of it.

fder T FAF 15 T 16 qESHIE WH ¥ TEF Y W
5 & efed ¥ (YAF IW W Afuwan -
150 7% ®)

Instruction Question Nos. 15 and 16 are long answer type questions.
Each question carries 5 marks. (Maximum word limit of
each answer is 150 words)

W¥-15

e el IO T F5har 541 (R ) & R g (f) N dey T
Fif) CGBOARDonline.com

Establish the relation between the radius of curvature ( R ) and focal
length ( /') of the spherical concave mirror.

[5]

3rerqr
OR
PR T 60 e § 2 et & Fraw foraa Tmifsa ey
TR |
that is reflection of light? Write Jaw of reflection and draw labelled
diagram. CGBOARDonline.com
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Analyse the data and answer the following questions :
CGBOARDonline.com Tgple

Name of Substance pH value
Solution of baking soda 8.2
Lemon juice 22
Water 7.0
Sodium hydroxide solution 13.0

Question :
(@) Which of the substance is basic in nature?
(b) Which of the substance is acidic in nature?
(¢) Which of the substance is neutral in nature?
(d) Which of the substance is strong base?

CGBOARDonline.com 379/4GT1
OR

< et T I WS A 5, 7 U6 10 © | fafay fh—
(37) FA-WM IS T 18F T ;

(F) FA-TM AT T 15 F R ;

(§) FA-TMaA T 13HE ;

() 39 e e omad & 1

The atomic numbers of three elements are 5, 7 and 10 respectively.
Write—

(@) which of these belongs to group 18; CG BOARDonline.com
(b) which of these belongs to group 15;

() which of these belongs to group 13;

(d) all elements belong to which period.
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(F) =it wafes

(%) =rfafy

Explain electric generator (Dynamo) under the following headings :

(a) Principle

(b) Labelled diagram

(c) Working method  CGBOARDonline.com
3rerar

OR

fireit <ve e o ST gd I AifaE I A TGR TR T
Yt it et yam & avi e famgell & il Fif :

Draw magnetic lines of force when North pole of bar magnet is
aligned with the geographic North and describe under the following
heads : CGBOARDonline.com

(a) Labelled diagram |

(b) Application method

(¢) Two precautions

L " P-T-O-
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W HHIG 17 T 18 SHIUdY WY T WAS WE W
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i wg-Himn 75 I15 ®)

Instruction : Question Nos. 17 and 18 are long answer type questions.

w7

Each question carries 6 marks. Each question has two
sub-questions. (Maximum word limit of each answer is

75 words)

(37) WS & e 9 1 =0 AHifhd 6T TR
(%) smeE § wfaa HCl o & fafaw) (18 9) [3+3=6]

(@) Draw a well-labelled diagram of human digestive system.

(b) Write the function of HCI secreted in the stomach. (any three)

3ar CGBOARDonline.com
OR

(37) AFE g9 % wrad e (LS) &1 Wwo Amifed fas a[Ee|
(%) YhE-dyee S gfodme foaet wfwan &1 Tarafe st fafaa)

(@) Draw a well-labelled diagram of longitudinal section (LS) of

human heart.

(b) Define photosynthesis and write the chemical equation of this

process.

(37) wig W& 3rig F “ifeer 7o % R W i i fafiaw)
(%) frfefea framrem sgem & fe o = gufa § 2
() TEEeH @ O TR g N sSar e
(i) A WA N R F e F o T Il @ 9w
‘uiY’ st e STt ¥1 CGBOARDonline.com [3+1%+1%4=6]

(@) Write three differences between metal and non-metal on the

basis of physical properties.

S-5B
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(b) The activities described below are due to which property of
hydrogen? CGBOARDonline.com
() Ahydrogen filled balloon flies in air.
(i) A ‘pop’ sound is produced when a lighted matchstick is
taken near the mouth of the jar filled with hydrogen gas.

3rear
OR

(37 @l T T wereyl Wi Sfw fafaw) (1 )
() deror Frd e ¥ 2 damur & v & Rl i ST < fefae

(@) Write differences between mineral and ore with example.

(any three) CGBOARDonline.com

(b) What is corrosion? Write any three methods to prevent corrosion.
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